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B.Com.(Hons.) DEGREE EXAMINATION, APRIL 2016.
II YEAR — III SEMESTER
Paper IX — BUSINESS MATHEMATICS
Time : 3 hours	    Max. marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer ALL  questions 
1. If A = {1, 2,3} B = {1, 3,5} C= {2, 3, 4,6} find (i) A(BC) (ii) A – (BC).
2. 
Given that f(x) = 2x+3 and g(x) = 5x+m, find m so that .
3. Given 2x+9y : 3x+4y = 3 :4. Find the ratio of x to y.
4. If a: b= c: d = 2.5 : 1.5 what are the values of ad : bc and a+c: b+d
5. If 4.nC2 = (n+2)C3 find ‘n’.
6. 
Expand
7. 
Differentiate with respect to x 
8. 
If  x= a cos, y=b sin  find 
9. A Person desires to create endowment fund to provide for a prize of Rs.300 every year. 
If the fund can be invested at 10% p.a. compound interest, find the amount of the endowment.
10. Convert 40010 into binary number.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
11. Given U = {1,2,3,4,5,6,7} A = {1,2,3,4,5} B = {1,3,5,7} C = {2,5,6,7} 
find :  (i) AC 	(ii) BA	(iii) C-B (iv) CA
12. If X = {3,6,9,12} Y = {1,2,3,4,5,6} and f: XY is given by f(x) = , represents  f(x) as
(i) a set of ordered pairs	 (ii)     an arrow diagram.
13. Three vessels contain mixtures of milk and water in the proportions 3:1, 4:1 and 5:1. The 
contents of the three vessels are mixed in the proportion x : y : 1. If the resulting mixture 
contains milk and  water in the proportion 7 : 2, find y in terms of x.
14. 
If the square of ‘x’ varies as the cube of ‘y’ and x = 3 when y = 4, find the value of y when x= ?
15. The letters of the word NATURE are permuted and the words so formed are arranged as 
in a  dictionary. Find the rank of the word NATURE.
16. 


 (
[P.T.O.]
)If x = , y =  find 
17. If  show that 
18. Find the banker’s gain on a bill of Rs.3750 due in 8 months at 8% per annum.

SECTION C — (2 × 15 = 30 marks)
Q.No. 19 is compulsory and any ONE from the rest of two questions.
Part A (Compulsory)
19. Out of 880 boys in a school, 224 played cricket, 240 played hockey and 336 played 
Basket ball. Of the total 64 play both basketball and hockey; 80 played cricket and 
	     Basket ball and 40 played cricket and hockey. 24 played all the three games. How many        
        did not play any of the games and how many played only one game?

Part B (Any one)
20. The efficiency of E of a small manufacturing concern depends on the number of workers 
 	     W and is given by

	     10 E = - . Find the strength of the workers which gives maximum efficiency 
21. Show that the matrix


A = satisfies the equation A3- 6A2 + 9A - 4I =0 and hence deduce A-1
—————
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